# Template for Proposal for Grants to Strengthen Colleges

## Section 1: Preamble

- A. Name of the College: GOVERNMENT DEGREE COLLEGE, PATI (CHAMPAWAT)
- B. Address of the college: VILLAGE- JAULADI TEHSIL- PATI 262561
- C. AISHE Code: : C-61977
- D. Name of the District: CHAMPAWAT
- E. Whether State Government aided or State Government College: **STATE GOVERNMENT**.
- F. Whether Constituent college or affiliated college of a University: AFFILIATED COLLEGE.
- G. Name of University: SOBAN SINGH JEENA UNIVERSITY, ALMORA.
- H. Year of opening: 2019.
- I. Is the college running from a permanent campus or temporary campus: **PERMANENT CAMPUS**.
- J. Accreditation status as on date of application: Not accredited.
- K. If Not Accredited, then whether it has submitted the IIQA and has started the process of getting Accreditation:
- L. If accredited then Accreditation score and Grade: N.A.

Score	Grade
-------	-------

- M. Date of validity of accreditation: N.A.
- N. Is the district of the college location a focus district: **YES**.
- O. Has the institution been earlier approved under RUSA: NO.
- P. Details of earlier consolidated approvals to the institution under RUSA (as on date of application: N.A.

S. No	Name of the Compone nt	Central Share Approve d (Rs. Crore)	Central Share Release d (Rs. Crore)	Centra I Share Utilise d	State Share Approve d	State Share Release d	State Share Utilise d	Total Amount Approve d (Rs. Crore)	Total Amount Release d (Rs. Crore)	Total Amoun t Utilise d (Rs. Crore)	Whether project completed (including all hard and soft items of expenditur e)	If yes , enclose completio n certificate	If not complete d, then what is the percentag e of completio n of the overall project
	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.	N.A.

### Section 2: Details about the College:

A. Vision Mission of the College:

**Vision of the College**: In order to establish the college as a vibrant and ideal educational campus, to integrate local knowledge and folk culture, value ability with global thinking in the students and to empower the backward and weaker sections of the region.

### Mission of the College:

- 1- To create a disciplined environment in the college.
- Conducting online content, manuals, topic links and online classes along with classroom teaching.
- 3- Innovation training and marketing knowledge to connect college students with self-

employment.

4- Providing training (employment and self-employment) for a better future by

encouraging the students of the weak and backward classes of the region.

- 5- Providing counseling to the students related to their career and placement cell will try to arrange maximum number of placements.
- 6- To develop a healthy competitive spirit among the students in the college.
- 7- Developing entertaining, simple and easy educational methods.
- 8- In regard with the Fit India movement institute will connect and engage students to sports activities.
- 9- To develop inherent, versatile/multidisciplinary skills in students in compliance with

the National Education Policy.

## B. Broad objectives of the College: -

- 1- To inculcate a sense of social justice and responsibility among the students and motivate them to render meaningful welfare service to the society and fellow beings.
- 2- To equip the students with adequate employability skills and knowledge, inter personal skills and global outlook to gain meaningful employment on completion of their studies.

<b>c</b> . Organizational Structure for Operation and Management -	DIRECTOR, HIGHER EDUCATION, PRINCIPAL OF THE COLLEGE AND VARIOUS COMMITTEES OF THE COLLEGE.
<b>D</b> . Role and Responsibilities of Key Positions/ bodies -	DIRECTOR, HIGHER EDUCATION WILL GIVE OVERALL DIRECTION TO THE COLLEGE. PRINCIPAL BEING THE D.D.O. AND THE ADMINISTRATIVE HEAD OF THE COLLEGE, WILL DO THE WORK WITH THE ASSISTANCE OF VARIOUS COLLEGE COMMITTEES.

E. Board of Governance –

N.A.

- F. Project Monitoring Unit (PMU) details PRINCIPAL(CHAIRPERSON), PM-USHA NODAL (SECRETARY), TWO

   SENIOR PROFESSORS, ONE ENGINEER AND ONE BOY AND ONE GIRL
   STUDENT FROM THE COLLEGE.
- G. Total enrolment in the college:

293.

H. Details of the Departments and Courses offered in the college:

SI. No.	Departments	Course Offered	Duration (years)	Total enrolment	Sanctioned posts of Regular Faculty	Posts filled in Regluar mode	Percentage of Posts filled	Student Teacher Ratio			
1	HINDI			236		03	50 PERCENT	236:1			
2	ENGLISH			63	06			63:1			
3	SANSKRIT		TUDEE	169				169:1			
4	SOCIOLOGY	UG	THREE YEARS				206				206:1
5	EDUCATION			68				68:1			
6	HISTORY			161				161:1			
			Total Total	903				151:1			

I. Details of Non-Teaching Staff:

Department	Sanctioned Posts	Posts yet to be Sanctioned
Administrative	01	0
Technical	00	0
Others	05	0
Total	06	0

J. Teaching staff: Non-teaching ratio - 1:1

## Section 3: Infrastructure Details Details:

- A. Existing Land Availability (in acres): 4.56 ACRES
- B. GPS Coordinates of the college: N29\*23'46"

E79\*55'52"

## Section 4: Proposal Details:

(Activities under the component are provided in Chapter VI of the Guidelines)

- A. Tentative date of completion of Project: 31 MARCH 2026
- B. Details of Infrastructure proposed to be constructed:

SI.	Description of	Purpose of	Proposed	Total Cost	Total	Justification
No.	Infrastructure	Infrastructure	Area Sq. m	per Sq. m	cost	
1	<u>DIGITAL</u> EDUCATION CENTRE_	IT WILL PROVIDE ALL STUDENTS WITH A QUALITY EDUCATION THROUGH E- LEARNING COURSES.	80 SQ MTS	40000	3200000	STUDENTS CAN USE E-LEARNING EDUCATION THROUGH SWAYAM AND MOOCS.

2	<u>SAMARTH</u> <u>PORTAL</u> <u>CENTRE.</u>	A SEPERATE CELL FOR SAMARTH ONLINE ADMISSION PROCESS.	80 SQ MTS	40000	3200000	GOVERNMENT OF UTTARAKHAND HAS MADE ESSENTIAL FOR HIGHER EDUCATION INSTITUTIONS TO USE SAMARTH PORTAL FOR ADMISSION, EXAMINATION AND EVALUATION.
3	IQAC CENTRE.	CONSTRUCTION OF AN IQAC CELL FOR NAAC ACCREDITATION.	80 SQ MTS	40000	3200000	IQAC IS ESSENTIAL FOR CONTINUOUS IMPROVEMENT IN QUALITY EDUCATION
4	<u>SMART</u> CLASSROOMS.	SMART CLASSROOM CAN HELP TO SAVE TIME BY PROVIDING A MORE EFFICIENT WAY OF TEACHING AND LEARNING.	160 SQ MTS	40000	6400000	. SMART CLASSROOM CAN HELP TO CREATE AN ENGAGING LEARNING ENVIRONMENT, WHICH CAN BE BENEFICIAL FOR ALL STUDENTS, INCLUDING THOSE WHO MAY BE STRUGGLING IN THE COLLEGE
5	<u>BUILDING FOR</u> <u>LIBRARY</u> <u>AND.READING</u> <u>ROOM.</u>	SPACE FOR LIBRARY AND ISSUING OF BOOKS.	120 SQ MTS	40000	4800000	COLLEGE HAS NO SPACE FOR DIGITAL LIBRARY AND LIBRARY.
6	LABORATORY	LABORATORY FOR EDUCATION SUBJECT.	50 SQ. MTS.	40000	2000000	IT IS ESSENTIAL UNDER N.E.P. 2020 FOR EDUCATION DEPARTMENT.
7	<u>HOSTEL</u> <u>BUILDING</u>	FOR STAY IN HOSTELS OF STUDENTS COMING FROM REMOTE AREAS TO THE COLLEGE.	300 SQ MTS.	30000	9000000	COLLEGE IS SITUATED IN A REMOTE AREA OF CHAMPAWAT HOSTEL IS A MANDATORY REQUIREMENT FOR GIRLS COMING FROM DISTANT VILLAGE AREAS.
8	N.S.S, N.C.C. AND SPORTSROOM	FOR N.S.S. VOLUNTEERS, N.CC. CADETS AND SPORTS EQUIPMENTS AND ACTIVITIES.	180 SQMTS.	40000	7200000	N.S.S. IS ESSENTIAL TO INCULCATE THE SOCIAL RESPONSIBILITIES IN STUDENTS. UTTARAKHAND IS KNOWN FOR SOLDIERS AND THEREFORE STUDENTS DEMAND FOR THE N.C.C. IN THE COLLEGE. TO TAKE FORWARD THE FIT INDIA MOVEMENT AND CONNECT STUDENTS WITH SPORTS ACTIVITIES.
9	BASKET BALL	FOR OUTDOOR SPORT ACTIVITY.	450 SQ MTS.	489	220000	FOR OUTDOOR GAME FACILITY.

COURT				
		Total	39220000	

C. Details of Infrastructure proposed to be Renovated/upgradation:

SI N o.	Description of Infrastructure	Detail of renovation/upgradation proposed	Propos ed Area Sq. m	Total Cost per Sq. m	Total cost	Justification
01	GRILLED DOORS	DOORS FOR OFFICE AND OTHER ACADEMIC ROOMS.	50 SQ. MT.	500	25000	FOR SECURITY PURPOSE.
02	FALSE CEILING	FOR PRINCIPAL ROOM, OFFICE AND STAFF ROOMS.	160 SQ MT.	800	128000	FOR UPGRADATION OF ROOMS.
03	WOOD PANELING	FOR PRINCIPAL ROOM	60 SQ MT.	1000	60000	FOR UPGRADATION OF PRINCIPAL ROOM
04	CURTAINS	FOR PRINCIPAL , OFFICE AND STAFF ROOMS.	100 SQ MTS.	800	80000	FOR UPGRADATION OF ADMINISTRATIVE AND ACADEMIC BLOCKS.
05	CHAMBER PARTITION	IN STAFF ROOM FOR DIFFERENT DEPARTMENTS.	75 SQ MT.	1627	122000	SEPERATE CHAMBERS FOR DEPARTMENTS.
		Total		415000		

D. Details of Equipment to be procured:

SI. No	Name of the Equipment	Quantity	Cost per Unit	Total Cost	Justification
01	COMPUTERS	50	59500	2975000	FOR COMPUTER LAB AND ACADEMIC PURPOSES.
02	STUDENT TABLES	200	2500	500000	FOR STUDENTS.
03	STUDENT CHAIRS	200	3000	600000	FOR STUDENTS.
04	ALMIRAH	30	15000	450000	FOR DEPARTMENTS, OFFICE AND OTHER ACADEMIC PURPOSES.
05	SMARTBOARD (TECHNOLOGY ENABLED)	6	200000	1200000	FOR CLASSROOMS, MEETING HALL AND COMPUTER LAB.
06	TABLE	2	50000	100000	PRINCIPAL AND OFFICE TABLE.
07	XEROX MACHINE	1	100000	100000	FOR OFFICE AND ACADEMIC WORKS.
08	PRINTER	6	15000	90000	FOR OFFICE AND ACADEMIC WORKS.
09	GENERATOR	1	500000	500000	ALTERNATE SOURCE FOR ELECTRICITY.
10	Т.V.	2	40000	80000	FOR C.C.T.V. AND HOSTEL RE-CREATION ROOM.
11	CONFERENCE ROUND- TABLE	1	150000	150000	IN MEETING HALL FOR CONFERENCE AND MEETING PURPOSES.
12	CHAIRS	60	7000	420000	FOR MEETING HALL.
13	COMPUTER TABLES	50	6000	300000	FOR COMPUTER LAB AND ACADEMIC PURPOSES.
14	BED	60	9000	540000	FOR HOSTEL ROOMS.
15	DINING TABLE	01	500000	500000	FOR HOSTEL MESS (KITCHEN).
16	CHAIRS	60	3000	180000	FOR HOSTEL MESS (KITCHEN).
17	TABLES	60	3000	180000	FOR HOSTEL MESS (KITCHEN).
18	ROOM OIL HEATERS	15	12000	180000	FOR HOSTEL MESS (KITCHEN).

19	VISITING CHAIRS	15	7000	105000	FOR VISITORS.
20	SOFA ( 7 SEATER)	01	100000	100000	IN PRINCIPAL ROOM FOR VISITORS.
21	PRINCIPAL CHAIR	01	25000	25000	FOR COLLEGE PRINCIPAL.
22	C.C.T.V. CAMERAS WITH FITTING AND NETWORKING CHARGES.	24	5000	120000	FOR COLLEGE CAMPUS.
23	D.V.R. FOR C.C.T.V.	01	30000	30000	FOR CCTV CAMERA RECORDINGS.
24	HARD DISC	02 (6TB EACH)	15000	30000	FOR STORAGE OF C.C.T.V. RECORDINGS.
25	PUBLIC ADDRESS SYSTEM	01	75000	75000	FOR COLLEGE ACTIVITIES AND PROGRAMMES.
26	STAFF CHAIRS	10	7000	70000	FOR SPORTS, N.SS., N.C.C, EXAM AND OTHER ACADEMIC PURPOSES.
27	STAFF TABLES	10	10000	100000	FOR SPORTS, N.SS. N.C.C, EXAM AND OTHER ACADEMIC PURPOSES.
28	BOOK SELVES	10	14000	140000	FOR LIBRARY BOOKS AND JOURNALS.
29	DIGITAL PODIUM	01	250000	250000	FOR PRESENTATION IN MEETING HALL.
30	READING ROOM TABLE	01	150000	150000	FOR READING BOOKS IN READING ROOM.
31	SLOPPING PERIODICAL DISPLAY RACKS.	02	20000	40000	FOR NEWSPAPERS AND JOURNALS IN READING ROOM
32	HOSTEL MESS UTENSILS	01 SET	25000	25000	FOR MESS PURPOSE.
33	NOTICE BOARDS	04	5000	20000	FOR INFORMATION NOTICE PURPOSES.
34	WATER COOLERS (HOT AND COLD)	02	15000	30000	DRINKING WATER FACILITY FOR STUDENTS.
35	T.T. TABLE	01	50000	50000	FOR INDOOR SPORTS.
	Tota	I		10365000	

## E. Details of Soft component activities

SI N o.	Activity	Purpose	Details	Unit (Such as number of vocational courses, mentorship programmes, etc)	Cost per unit	Total Cost	Target number of beneficiaries	Expected outcome
1								

**F.** Year-wise Financial estimates for all Activities.

S. No.	Items	Whether new construction or renovation or Equipment or soft component	State Proposal (Rs. In Lakhs)			
			2023-24	2024-25	2025-26	Total
1	CONSTRUCTION OF BUILDINGS (AS PER 2B)	NEW CONSTRUCTION	500000	15000000	19220000	39920000
2	AS PER 2C	RENOVATION		415000	NIL	415000

S. No.	Items	Whether new construction or renovation or Equipment or soft component	State Proposal (Rs. In Lakhs)			
			2023-24	2024-25	2025-26	Total
3	AS PER 2D	EQUIPMENTS		2115000	8250000	10365000
4		SOFT COMPONENTS				
	Total		500000	17530000	27470000	5000000

G. Timeline for completion of project:

Phase	Items	Whether new construction or renovation or Equipment or soft component	Percentage of completion in the relevant phase	Physical	_		al Target
				Start Date	End Date	Start Date	End Date
	AS PER 2B	NEW CONSTRUCTION	50 PERCENT	JANUARY 2024	31-03-2025	JANUARY 2024	31-03-2025
1	AS PER 2C	RENOVATION	100 PERCENT	01-04- 2024	31-03-2025	JANUARY 2024	31-03-2025
	AS PER 2D	EQUIPMENTS	40 PERCENT	JANUARY 2024	31-03-2025	JANUARY 2024	31-03-2025

Phase	Items	Whether new construction or renovation or Equipment or soft component	Percentage of completion in the relevant phase	Physical Target		ompletion in Physical Target Financial Targe he relevant phase		ıl Target
				Start Date	End Date	Start Date	End Date	
11	AS PER 2B	NEW CONSTRUCTION	50 PERCENT	01-04-2025	31-03-2026	01-04-2025	31-03-2026	
		EQUIPMENTS	60 PERCENT	01-04-2025	31-03-2026	01-04-2025	31-03-2026	
		SOFT COMPONENTS						

## H. Courses proposed to be added:

SI. No	Departmen t		Proposed Course	Duration	Enrolmen t Targets for the first year	Year-wise Enrolment Targets for first 5 years	Whether course approve d by UGC	Whether sufficient faculty sanctione d for the course
1	ARTS	UG	POLITICAL SCIENCE AND ECONOMICS	3 YEARS	80 PER SUBJECT	80 STUDENTS PER YEAR PER SUBJECT.	YES	NO
2	SCIENCE	UG	BACHELOR OF SCIENCE (PHYSICS,CHEMISTRY,MATHS, ZOOLOGY, BOTANY)	3 YEARS	80 PER SUBJECT	80 STUDENTS PER YEAR PER SUBJECT.	YES	NO
3	ARTS	PG	MASTER OF ARTS (HINDI, ENGLISH, SANSKRIT, SOCIOLOGY, EDUCATION AND HISTORY)	2 YEARS	40 PER SUBJECT	40 PER SUBJECT	YES	NO

*I.* Pre-Collaboration with local industries for Research/ Internship/ Placements/ Apprenticeship:

1. If With existing Linkages: 1- NANDI FOUNDATION.

2 – MAHINDRA PRIDE.

2. If With scope for linkage: Provide details

**3.** If Without Linkages:

J. The details of the Activities to be undertaken from the Suggestive List of Activities under the component as provided in Chapter VI of the Guidelines

Activity	How has it been Included in Tables above and reference of Table No. above	Details of how activity to be undertaken	Cost for the activity	Timeline for implementation of the activity
Adoption of <u>Academic Bank of Credits</u>	As per curriculum table 2-H	As per NEP	-	2023 onward
Adoption of Multiple Entry and Exit	-do-	-do-	-	From 2022-23 onward
Adoption of Guidelines on NHEQF	-do-	-do-	-	Already implemented
Using ODL and Online Programmes such as SWAYM./MOOCS	-do-	Students are being motivated	-	From 2023-24
<u>Digital nodal centres</u> for digitising academic content and resources delivering digital education such as SWAYAM and other MOOCs.	As per curriculum table 4-B	-do-	-	From 2023-24
Internship/Apprenticeship     Embedded       Degree Programme	-	-	-	-
Alumni Connect portal	As per NEP Guideline	Shall be registered	-	2024
Adoption of Guidelines of UGC on Institutional Development Plan (IDP)	2Н	As per UGC Guideline	-	Already adopted
Introduction and access to <u>Online ERP</u> <u>portal (Samarth Portal)</u> for faculties containing all academic working processes (Online information dashboard, timetable, examination allotment schedule, evaluation,	2H	As per Departmental Guideline	-	Already Introduced

and other academic activities)				
Evaluation Reforms by strengthening the 'Internal Quality Assurance Cell' <u>(IQAC) of</u> <u>NAAC</u>	As per Departmental Guideline	As per university norms	-	2023-24
<u>Smart Classroom,</u> Computer Lab, Wi-Fi Facilities	Part of courses Table 2H	Teaching and learning		2023-24
Online training of teachers,	As per NEP	Teaching are being motivated	-	Already implemented
Setting up <u>start-up incubation centers and</u> <u>technology development centers</u> for skill- based courses with the help of Industries/Micro, Small & Medium Enterprises (MSME) at States/UTs level	Part of curriculum	By adding skill based courses	-	-do-
Certification Courses embedded in teaching	2H	As per NEP	-	-do-
Well-equipped <u>research laboratories</u> , Digital libraries with subscriptions to reputed journals,	4B	By providing required facilities to students	As per 4 B	-do-
Bridge courses for SEDG students	NA	-	-	-
<u>Online portal for student services</u> (attendance, academic record, hostel- related services, complaint registration, etc.)	2Н	To be developed	-	2023-24
<u>Placement/ Training</u> and <u>Certification</u> <u>programmes</u> . Structural Reforms according to the increased industry-ready courses, and industry-academia linkages	-	-	-	-

Construction/ Renovation of Infrastructure of Institute	4B 4C	As per DPR	30220000 415000	Nov 2023- March 2026
Purchase of necessary Equipments for the institute	4D 4E	As per procurement rules	10365000	Nov 2023- March 2026
Hostels and adequate toilet facilities for students specially for women/ transgenders, specially abled-friendly campus and special facilities	4 B	As per DPR	900000	Nov 2023- March 2026
Opening of STEM courses	-	-	-	-
Vocational courses for 21stcentury skills, Internships/Training, Innovation of new courses regarding Vocational education	As per curriculum	As per Universities Guidelines	-	2023-24
Any other Activity from the Activities List	-	-	-	-

## Section 5: Proposed Outcomes:

	Indicators	Base Year (AUGUST 2023) Figures	Target for 31.03.2024	Target for 31.03.2025	Target for 31.03.2026
	% Increase in number of Students enrolled (UG/PG/PhD) compared to base year	293	293	350	400
	Number of ICT- Based Digital Infrastructures undertaken under the project	NIL	CONSTRUCTION STARTED	CONSTRUCTION COMPLETED.	USE OF ICT IN CLASSROOM TEACHIND AND LEARNING ALONG WITH COMPUTER LEARNING PROGRAMMES.
Outcome	If unaccredited, then Whether institution gets accreditation	NO	TO GET 2F/12B RECOGNITION FROM UGC.	APPLICATION FOR ACCREDITATION SUBMISSION.	COLLEGE WILL GET NAAC ACCREDITATION.
	If accredited, then whether institution increases in accreditation score	NA	NA	NA	YES
	Number of Campus placement sessions to be held for last semester students (Cumulative figures starting	2	10	25	45

	from year of approval)			
Output	Whether project completed	NA	NA	YES.
		I		

## C. Other sources of funds for the institution:

S. No.	Organisation/ Project/ any other Scheme	Amount	Activities supported
		NIL	NIL
	Total	NIL	NIL

1. The Institution/State undertakes that there will be no duplication of items of expenditure between the sources of funding:

## Section 6: Other sources of funds for the institution:

S. No.	Organisation/ Project/ any other Scheme	Amount	Activities supported
	NA	NIL	NIL
	Total	NIL	NIL

1. The College undertakes that there will be no duplication of items of expenditure between the sources of funding

## Section 7: Enclosing documents

**Please** <u>enclose all relevant documents</u> to support the DPR, architectural blueprints and elevation diagrams, maps of the land signed by the competent authority etc. for the proposal

### Section 8: Commitments:

- A. Adequate Girls hostels and Girls Toilets
- B. Follow the state reservation policy
- C. Building to be disable friendly and also ensure special facilities/equipment for the disabled
- D. Adequate per student provisions for classrooms, library and laboratory facilities
- E. Inclusion of ICT in teaching-learning process and provision of internet access to all students
- F. Implementation of all academic, examination and governance reforms
- G. Aim to achieve a better student teacher ratio (within a time-frame)
- H. Aim to achieve a better Teaching to Non-Teaching Staff (within a time-frame)
- I. All the recurring expenditure (including salaries) and non-recurring expenditure beyond the scope of the approval under the scheme would be met by the State Government.

Note again:

- 1) Maximum Central Grant will be limited to the State/ UT's funding ratio for the approval under the Scheme.
- 2) State/Institutionwill bear the excess expenditure over and above the Central share

I verify that all the data entered in above are true and correct to my knowledge

Signature of the Head of the Institute

## **SCORING AND RECOMMENDATION BY THE STATE/UT**

The score received by the above proposal as per the short-listing criteria given in the guidelines is as follows:

### ONLY STATE GOVERNMENT AND GOVERNMENT-AIDED COLLEGES WILL BE ELIGIBLE

#### Short Listing Criteria Indicators & Weights:

## A. Priority would be given to units in the Focus Districts

S. N.	Indicator	Weights	Score received by the Unit
1	Situated in Focus Districts	100 marks	100 MARKS
2	Not situated in Focus Districts	10 marks	

## B. Prior support under any Phases of RUSA

(i) **Approval/amount approved** means Total Approval (including Central and State share) of the all the number of times the unit has been approved under all the phases of RUSA under all the components.

(ii) **Completion certificate** means Completion Certificates for all number of times the unit has been approved under all the phases of RUSA under each component i.e. Submission of Completion certificate for less than the number of approvals will not be considered

S. N.	Indicator	Weights	Score received by the Unit
1	College has not been previously approved under any component of RUSA	100 marks	100 MARKS
2	Approval only once under RUSA but not released any central share by Ministry, so far	80 marks	
3	Approval either once or more under RUSA but has already utilised the full amount approved and has submitted completion certificate	40 marks	
4	Approval only once under RUSA but full amount approved not yet utilised and completion certificate not yet submitted	10 marks	
5	Approval more than once under RUSA but full amount approved not yet utilised and completion certificate not yet submitted	5 marks	

C. Students Enrollment: College with more Student Enrollment would be given preference with the following weightage:

S. No.	Indicator	Weights	Score received by the Unit
1	More than 2,500	60 marks	
2	2000-2499	50 marks	
3	1500-1999	40 marks	
4	1,000-1499	30 marks	
5	Below 1,000	20 marks	20 MARKS

D. Number of Departments in College : College with more number of Departments would be given preference with the following weightage:

S. No.	Indicator	Weights	Score received by the Unit
1	15 or More than 15	40 marks	
2	11-14	30 marks	
3	5-10	20 marks	20 MARKS

E. Department wise Faculty Positions filled in regular mode: College with large faculty positions filled in regular mode would be given preference with the following weightage:

(Each Department data would be filled separately)

S. No.	Indicator	Weights	Score received by the Unit
1	Above 85% of sanctioned faculty	30 marks	
	positions		
2	80-84.9% of sanctioned faculty positions	25 marks	
3	70-79.9% of sanctioned faculty positions	20 marks	
4	60-69.9% of sanctioned faculty positions	15 marks	
5	50-59.9% of sanctioned faculty positions	10 marks	10 MARKS
6	Below 50% of sanctioned faculty	5 marks	
	positions		

F. Department wise Student-Teacher Ratio: College with the minimum gap of Student-Teacher Ratio would be given preference with the following weightage:

(Each Department data would be filled separately)

S. No.	Indicator	Weights	Score received by the Unit
1	Between 1:1 – 1:19	30 marks	
2	Between 1:20 – 1:29	25 marks	
3	Between 1:30 – 1:39	20 marks	
4	Between 1:40 – 1:60	15marks	
5	Below 1:60	5 marks	5 MARKS

G. Collaboration with local industries for Research/ Internship/ Placements/ Apprenticeship with the following weightage:

S. No.	Indicator	Weights	Score received by the Unit
1	With existing Linkages	25 marks	25 MARKS
2	With scope for linkage	15 marks	
2	Without Linkages	0 marks	

The total score

received by the Proposal of the above institution is given in the box below:

280 MARKS

Page 23 of 24

The above proposal of <u>Government degree college, Pati</u> Under the component of <u>"Grants to strenthen colleges</u>" (COMPONENT-3), for an amount of Rs. <u>5 CRORES</u> is recommended by the State for consideration under the scheme of PM-USHA.

I verify that all the data entered above are true and correct to my knowledge

Signature and Stamp of the Administrative Secretary of the Higher Education Department of State/UT